%!‘B * fé R4

o4 A S
12 x % =10.8 50 x % = 20
81 x % = 8.1 87 x % = 69.6
95 x % =19 25 x % = 20
76 x % =16 48 x % = 33.6
45 x % = 36 32 x % =16
32 x % = 9.6 53 x % = 47.7
69 x % =27.6 64 x % =19.2
39 x % =273 61 x % = 42.7
79 x % =19 95 x % = 66.5
68 x % = 40.8 3 % % = 2.4
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G

12 X 90% = 10.8

81 x 10% = 8.1

95 x20% = 19

76 x 10% = 7.6

45 x 80% = 36

32 x30% = 9.6

69 x 40% = 27.6

39 x70% = 27.3

79 x 10% =79

68 x 60% = 40.8

H -

50 x40% = 20

87 x 80% = 69.6

25 x 80% = 20

48 x 70% = 33.6

32 x50% = 16

53 x90% = 47.7

64 x 30% = 19.2

61 x 70% = 42.7

95 x70% = 66.5

3x80% =124
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